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1. Bl
No. I H 4 iE il 2 K & & | & 2| EREAAIFEH £ K| £ EB| 2 B| #HES £ B BERE| ROTHA | RoTA—H—
H 1 |38 5 HiE ko) HffE B 300 [ 2707 3 A& H24.7.20[ 10 {4.82 m|1.82 m|1.47 m 1, 815kg 5A 2.49 ¢
2 E & 1 & H| B HiffE & 81 v 119/ 3 4 R3.12.2] 1 [5.60 m|1.89 m|2.47 m 3, 135kg 5A 2.96 2
3 |35 8 2 5 Hl# # H|ff & 800 = 7388/ 3 A& H24.6.4[1015.38 m|1.88 m[2.47 m 2, 950kg 8 A 2.69 0
4 |l % 1 B =#HK iR | & 800 4 1080|= ES R5.2.3] 0 [4.54 m[1.80 m[1.82 m| 1,815kg 5A 1.49 ¢
7] 5 [ #f 2 & H|K R H|ff & 800 = 2461k 3 A H13.9.27[ 21 [4.75 m|1.79 m|1.95 m 2, 170kg 8 A 2.36 0
6 [k 3§ 3 & H|&K iR HE & 4 % 11561]X /% JL| H15.10.31[ 19 [3.39 m|1.47 m]|1.90 m 1, 340kg 4 N 0.65 2
1|5 8 4 5 H|KA w HifE B 480 » 6447|R X F[ H17.9.21]17]3.39 m|[1.47 m|1.87 m 1, 310kg 4N 0.65 ¢
8 |& # o W X H[E MM X B|IES 88 = 94 v H H8.8.29] 26 [4.47 m]|1.73 m|2.49 m 2, 605kg 3 A 2.18 2
B 9 AN B 8 ¥ FIx A 2 0O0NREE 22 F 605 vy H5.7.141 29 16.84 m|1.99 m|[2.73 m| 4, 995kg 27N 416 ¢
10 |5 1 5 E[3 t Kk ¥ | B 800 (& 263|8 54 H16.2.12] 19 [7.54 m]|2.36 m[2.98 m| 12, 195kg 7 A 7.96 QJA — 1 #&l/MNKRLT
1M [ 2 & H=H|1.56t K # {4 B 800 (& 421|18 25 H19.1.16) 16 |7.03 m[2.25 m|2.90 m 9, 985kg 7A 6.40 0|A — 2 #p(EXREH
12 |5 3 5 H[c D — 1 #BIfE B 88 & 9336|Ly F ¥ H8.11.14] 26 [5.67 m]|1.88 m|2.66 m 4, 860kg 6 A 4.57 OJA — 2 #HIBXRFSATZIAHIL
® 13 |45 (HAH#E)|C D — 1 ®IfE & 800 & 9724|1y § % H31.3.26[ 4 [5.55 m|1.90 m|2.42 m| 4, 790kg 6 A 2.99 oA — 2 #®H|EUS
4 iz L Z H|54.7m HBF|E B 800 (& 828|H $F|  H29.3.14| 6 [12.00m|2.50 m|3.52 m| 24, 230kg 6 A 8.86 ¢
15 | B T 4 H|I BfE B 800 [& 1050|H 25 R4.12.12) 0 |7.92 m[2.36 m|3.20 m]| 11, 900kg 6 A 5.12 ¢
s 16 | X ® sk # EHE[10 t A & K #[E & 800 (& 861|A 54 H30.2.15] 5 [9.57 m]|2.49 m(3.34 m| 21, 955kg 3 A 8.86 ¢|B — 2 | bk—1\vY
! 17 |& i H|I A B 800 (X 560{H B[ H22.12.17{ 12 [11.00m|2.50 m|3.54 m| 19, 750kg| 10\ (26 A) |12.91¢Q
18 [EMMIB X1 BE|3t Y L — > | B 800 = 9311|H 25 H30.1.30] 5 |7.97 m[2.24 m|3.05 m 7, 995kg 3 A 5.12 ¢
19 BRI L2558 # M i % H[E 5 800 & 7563|= = H25.1.21] 10 {7.01 m]|2.25 m(3.24 m 7,565kg 3 A 2.99 0
[ 20 |EMMIEISHE|E B M W X BI|E B 800 (£ 699(H 25  H26.4.23] 8 [9.23 m|2.45 m|3.49 m]| 10, 495kg 5A 6.40 ¢
21 1% & 1 B HEF #$ # H[fF B8 800 & 8330/~ I % H27.2.20] 8 [5.67 m]|1.89 m(2.49 m 3, 255kg 7 A 2.69 2
2% 2 2 5 #HE H ¥ H|E S 800 ¢ 1102(r 3 % R5.2.22| 0 |5.66 m|1.89 m[2.49 m 3, 235kg 7A 2.69 ¢
W%k 2 3 5 #HE #H K H|fE 5 800 = 7582[r 3 4 H25.1.31] 5 [5.65 m]|1.89 m(2.49 m 3, 195kg 7 A 2.69 2
24 [#% 2 4 B HE #H ¥ HE[ffE B 800 = 5769k 3 A[ H19.12.21[15]5.68 m[1.90 m]|2.53 m 3, 235kg 7A 2.69 0
E=) 2 (% & 5 5 H[E #$ ¥ HE[fE B 800 = 6469~ 3 A H21.11.24[13]5.67 m[1.89 m]|2.53 m 3, 235kg 7 A 2.69 2
26 |5 # HiE # FH|fE & 800 & 7421|= w Y | H24.8.27[10[4.63 m[1.79 m|1.82 m 1, 795kg 5A 1.99 ¢
21 | & = HE = H|fE B 480 = 8280|= w Y | H28.8.29] 6 [3.39 m[1.47 m]|1.89 m 1, 310kg 4 A 0.65 ¢
28 [BF K 5 ¥R E|K R FH|fE & 800 & 4333|= w H | H16.12.22[18[4.69 m[1.69 m]|2.26 m 2, 180kg 8 A 1.99 ¢
e 29 W 4% =E[c D — 1 #E B 800 ¥ 11|H 52 R2.1.31] 3 [5.96 m[1.98 m]|2.86 m 7, 085kg 5A 4.01 oA — 2 BIEHFRLT
SE 30 [k ¥ BV BfE B 800 & 492|8H 5[ H20.11.27) 14 [8.55 m|2.49 m|3.15 m]| 15, 400kg 6 A 8.86 0[A — 1 #H|EUA
31 | 2 HE B K& H[fE B 800 & 8680~ I # H28.1.19] 7 [5.67 m]|1.89 m(2.49 m 3, 215kg 7 A 2.69 2
&5 2 & 4% =Fc D — 1 HIfE B 800 3 44|H 32 R2.2.21] 3 15.96 m|1.98 m[2.86 m 7, 085kg 5A 4.01 Oo[A — 2 BIEHBKRLT
nE 33 |#K = HE K& EH[fE B 800 & 8720|1= v ¥ v H28.3.1] 7 [5.66 m]|1.90 m|2.47 m 3, 315kg 7 A 3.49 0
EH 34 [ B H 3k Fr[cD—1®(J000)|#E & 800 = 9275|H B5] H29.12.7] 5 [5.73 m]|1.92 m|2.98 m 6, 815kg 5A 4.00 o/A — 2 #®I|EUS
HaRAT 35 | 2 HE K& EH[fE B 800 & 9355|= v H v H30.2.27] 5 [5.64 m]|1.90 m(2.47 m 3, 285kg 7 A 3.49 0
36 | 1 B H|2 t K f {F|f8 & 800 (& 813[H BF| H28.12.15| 6 [6.96 m|2.35 m|3.03 m| 11, 285kg 7A 6.40 o|A — 2 #MNKRLT
37| 2 B ZH|cD-—1&(6000)|E & 800 & 7612[H BF]  H25.2.28| 10 [5.70 m]|1.92 m|3.05 m 6, 930kg 6 A 4.00 o|lA — 2 #HEUS
i) 8| 3 B H|IC D — 1 #ifE B 83 & 54811y 4 ¥ H1.3.22]| 34 15.68 m|1.88 m[2.68 m| 4, 880kg 6 A 3.63 0|A — 2 #HISHEM
PR/ —H L E25mEHRIEFLI|E & 800 (£ 1018(H 52 R4.1.25] 1 [9.00 m|[2.49 m|3.65 m]| 16, 540kg 6 A 8.86 ¢
40 [# B T & EHE[|ID BlfE B 800 & 685|H 5[ H25.12.27] 9 |7.57 m|2.34 m|3.25 m]| 11,490kg 6 A 6.40 ¢
H 4 [K & Kk # H[5 t &2 ¥ HlfE B 800 (& 192,y F N H15.1.27] 20 [8.18 m|2.48 m(2.94 m| 13, 205kg 3 A 8.22 9|B — 3 #k|b—n\VY
12 | EHMBRE1SEHBt Y L — > {F| & 800 & 6379(8 25|  H21.8.27] 13]5.98 m|[1.89 m]|2.57 m 6, 865kg 3 A 4.00 ¢
DB | ERMIBE2SH|E B # W X B|E 5 800 3 429[1y F % R3.3.5[ 2 [6.65 m|2.24 m|3.66 m 7, 365kg 5A 2.99 ¢
53] 4% 2 1 B HE #H ¥ HE[fE B 800 = 9629|= v Y > H31.1.11[ 4 ]5.33 m[1.88 m|2.49 m 3, 255kg 7A 2.48 0
4 | 2 2 B HEF B O H[E S 800 = 6934/~ I & H23.2.15] 12 (5.65 m]|1.88 m|2.51 m 3, 105kg 7 A 2.69 2
£ 46 |i5 # HiE # FH|fE & 800 & 7422|= v Y | H24.8.27[10[4.63 m[1.79 m|1.82 m 1, 795kg 5A 1.99 ¢
47 | & = HE = HiE B 480 ¥ 5023|= v B v R1.7.18] 3 13.39 m|1.47 m[1.89 m 1, 320kg 4 A 0.65 ¢
48 |5 K IR #® E|IR R FH|fE & 400 % 4064|= v o | H27.7.21[ 7 [4.69 m[1.69 m]|1.99 m 3, 075kg 9A 1.99 ¢
[E FF 49 |E fF H &k FR[c D — 1 FiE B 800 & 663[Ly F % H11.12.3] 23 [5.77 m]|1.88 m|2.52 m 4, 990kg 6 A 4.57 0|lA — 2 #HIBXREH
HagRr [ 50 [#& 2 HE 3 & H[ffE & 80 ¢ 416|= v H > R3.3.1[ 2 [5.33 m|1.88 m|2.49 m 3, 315kg 7A 2.48 0




(34

1[E & % C D — 1 [ B 800 & 8611[A %[ H27.11.18] 7 [5.30 m[1.88 m[2.50 m| 4.800ke] 66X [4.00 Q[A — 2 @[EUX
2 [ @ B % Mc D — 1 #|@E B 800 = 8612[H | H27.11.18] 7 [5.30 m|1.88 m|2.50 m| 4,800ke] 6A  [4.00 2[A — 2 @[EU%
3 |m ® M » B|c D — 1 #|@E B 830 & 1198 | H18.11.29[ 16]5.79 m|1.88 m|2.64 m| 4.840ke] 6A  [4.00 8[A — 2 @|AAeEi
4lm @ » C D — 1 [ B 800 = 416]( 3 S| HI1.9.20[23[5.70 m[1.88 m|2.56 m| 4.970kg] 6A  [4.57 oA — 1 F[MIKT
5 (8 = o C D — 1 =@ B 800 & 1605[A | H12.9.29] 22[5.70 m|1.88 m|2.56 m| 4.630ke] 66X  [4.89 8[A — 2 @[EUX
% 6 [ M & C D T Z|@E B 800 & 37068 | H15.11.18/ 19]5.63 m|1.88 m|2.42 m| 4 910ke]| 6A  [4.89 0[A — 2 BEAXFSA T AL
7B C D — 1 =@ B 800 & 9247|A | H20.11.10 5 [5.65 m|1.89 m|2.561 m| 4.880ke] 6A [4.00 2[A — 2 @[EUX
8 2 m % C D T #[ff & 800 X 7486|L> 3 S| H24.10.26[105.77 m|1.88 m[2.63 m| 4,990kg| 6A  [2.99 0[A — 2 B[FAFv—
9 [ % & » M|C D — 1 E|@ & 800 = 9648[H %[ H31.2.5] 4 [5.71 m|1.88 m|[2.50 m| 4.780ke] 6A  [4.00 2[A — 2 @[EUX
0lm % % C D — 1 #[E B 800 & 6866[H | H22.11.26] 12]5.68 m|1.89 m|2.50 m| 4.670ke] 6A  [4.00 2[A — 2 W[EU%
TN 5 % C D — 1 =@ B 800 & 4848[R | H17.11.29 17]5.70 m|1.88 m[2.50 m| 4.660ke] 6A  [4.00 2[A — 2 @[EUX
12 & & W@ # E[ff & 800 X 7162|= v H | H23.11.24| 11]5.20 m[1.69 m[2.33 m| 3,270kg] 6A [1.99 0|B — 2 #B[F—sV
Bl & % C D — 1 Zf B 800 & 8253[( J S| H26.12.9] 8 [5.68 m[1.90 m[2.60 m| 4.980ke] 6L [2.90 §[A — 2 W[FAFv—
4| o & 2 (@ # E[ff & 800 X 6481|= v © | H21.11.27[ 13[4.99 m|1.69 m[2.30 m| 2,060kg] 6A [1.99 ¢|B — 2 #H[SEv F
5|5 %= B » M[C D — 1 H|f & 800 = 7803[H %[ H25.12.12] 9 [5.79 m|1.88 m[2.68 m| 4.980ke]| 6A [4.00 2[A — 2 @[EUX
16 n__ R & B # E[ff & 800 X 0251|= v # | H20.11.17] 5 [5.00 m[1.78 m|2.34 m| 3,300kg] 6A [1.99 0|B — 2 #F[F—sV
17 v % B W[E # E[ff & 800 X 822/|= w & | H26.11.4] 8 [5.43 m[1.69 m[2.32 m| 3.170kg] 6A [1.99 0[B — 2 [F—1V
18|F @ 2% M[C D — 1 % & 800 = 1604|H %[ H12.9.29[ 22[5.70 m|1.88 m|2.56 m| 4.630ke] 6A  [4.89 0[A — 2 B[EUX
19|A @ % F[C D — 1 ¢ & 800 = 1614],> 3 S| HI2.9.29]22]5.67 m|1.88 m|2.75 m| 5.100ke] 6A  [4.57 8|A — 2 @[EUX
20 [F )\ 5 % M|C D — 1 E[fE B 800 = 72641 § S| H24.2.24] 11]5.88 m[1.89 m[2.46 m| 4,980kg] 6A [2.99 0[A — 2 B[FAFv—
AW 5 C D — 1 =@ B 800 & 8877|A | H28.10.20 6 [5.65 m|1.88 m|2.561 m| 4.820ke] 6A  [4.00 8[A — 2 @[EUX
2k _®m 5 C D — 1 | B 88 F 244 3§ S| HI0.1.6]25[5.60 m[1.88 m[2.50 m| 4.750kg] 6A  [4.5] O[A — 2 SHEAFZATSHIL
B |E B 9 C D — 1 =@ B 800 & 9661 %[ H31.2.18] 4 [5.71 m|1.88 m|2.50 m| 4. 780ke] 6A  [4.00 2[A — 2 @[EUX
| E & WA # E[ff & 800 X 7166]= v © | H23.11.28| 11]5.30 m|1.69 m[2.33 m| 3.,200kg] 6A [1.99 0B — 2 #B[F—sv
2. Z0fth (fafE - N1 D)
No. T E A ' Al B B E 5 | B Z|EBEAOEHE B+ B2 5] KEe E B |HRE| RUITHA| Ko IA—h—
M E & BE[f P9 st [ 28043238 v~ < —| H22.12.24 12[10.88m[2.54 m 1,700kg] 13 A B — 2 ®[SEvk
2 |3 &4 & — K| 5 |  230-53520 7 % L R| H25.12.25] 0 [3.42 m|1.61 m 200ke| 6
BHEBE | 3 [kEX— FNA[94-8-Y 19} 280-46562 = | R&10.24[ 0 [2.92 m[1.16 m 457.3kg| 3N [1.8128
4 |KEA—FRA[94-5-Y 1y} 280-37932 " < | Hi1.6.21]23[3.15 m[1.25 m|[1.10 m|  250kg] 33X  [0.75 8
E [EBBEHmAT | kERMANT | @Em (E 1377 |7 — | H26.11.26] 8 [3.22 m|1.52 m|2.00 m|  64Tke|6X (GkE4A)[0.748¢
s | 0 [KE A—FNAh1-§-3 1yt 280-38812 AT % x| H12.6.26]22[3.10 m[1.17 m[1.06 m| 278kg] 3L  [0.89 ¢
T [AJO—FAA5|/N B B & — 8| fEem W 423 [k >~ 5| HI1.6.21[23[2.19 m|[0.84 m|1.17 m| 122kg] 2 A  [0.1258
8 [ & K — K| st # 280-46104 |7 % L R| R3.1.19[ 2 |3.42 m|1.61 m 78kg| 6 A
3. FEktEEE
No. B A | B E & 5 | B 4| ERFABIFEHNE R £ B| £ S| KEES E B |¥RE| RVIHA| RoIA—Hh—
1T | B 1 |E@ @ EOéS|@ & ™ A666|H > 5| H25.7.4] 9 [1.80 m[0.70 m[1.04 m|  106kg] 1A  [0.0498
2 % B ft 2| RE OGSl & m A6/ ~ 4| H25.7.4] 9 [1.80 m|0.70 m|1.04 m|  106kg] 1A  0.0492
BAEME | 3 |m B (I o|E@ @ OsS|@ & ™ Ak > 5| H2J.6.17] 7 [1.80 m[0.70 m[1.04 m|  106kg] 1A  [0.0498
4" B it ARE MO SE(E & ™ MBIk o 4| H2.6.17] 7 [1.80 m|0.70 m|1.04 m|  106kg| 1A  0.0492
5% B ft S| REM{fO&&E(lm & m A8k 4| H27.6.17] 7 [1.80 m|0.70 m|1.04 m|  106kg| 1A  0.0492
fsE | 6 [N A R 1|E@ i Ses@ B m A6k -~ 5| H25.7.4] 0180 m[0.70 m[T.04 m|[ f06ke] 1A [0.0492
T W R 2|RB it EeE|s & th  A6068|/k > 4| H28.7.20 6 [1.80 m|0.70 m|1.04 m|  106kg] 1A  0.0498
BrEns | S |B & B o 1\ FOBMEAGESE B @ A6Ok > 4] H574/0|180 m[0.70 m|[l.04 m| 106ke] 1A 0.0490
9B & B f 2 REM{OGE(lm & ™ A0k > 4| H28.7.20] 6 [1.80 m|0.70 m|1.04 m|  106kg| 1A  0.0492
M [ 10 (2 B B f 1| REM@EO&ESEE & m AG/|k > 4| H25.7.4] 9 [1.80 m|0.70 m|1.04 m|  106kg| 1A  0.0498
HEEFT | 11 2 B B 2B @ EénE|m B i A6O/|mk > 5| H28.7.20] 6 [1.80 m[0.70 m|1.04 m| 106kg| 1A  [0.0490
12[@ B+ 1|REnif B & i A%6I2k > 4| H2b.7.4] 9 [1.80 m[0.70 m[1.04 m|  106ke| 1A  [0.0490
mE | S [B B ff 2E@m#fSss@ B m A6k -~ 5| H25.7.4] 0180 m[0.70 m[T.04 m[ f06ke] 1A [0.0492
14|@ B+ 3|mEnisfHéd(@E & i ASSI[k > 4| H27.6.17] 7 [1.80 m[0.70 m[1.04 m|  106ke| 1A  [0.0490
5 |@ B 4|REnisf B & i A%6I5k > 4| H2b.7.4] 9 [1.80 m[0.70 m[1.04 m|  106ke| 1A  [0.0490
ErrsEm | 16 B B B 1| BBt oé S|t & m A60/2sk > 4| H28.7.20] 6 [1.80 m|0.70 m|1.04 m|  106kg] 1K  0.049¢
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ﬂéﬁ IHT 62 62 0 7 39 0 0 14 2 0 0 0 0 0 0 0 0 0 0
)—é—»
@EE'EH 42 42 0 11 21 6 0 4 0 0 0 0 0 0 0 0 0 0 0
HE H
128 128 2 40 55 5 0 24 2 0 0 0 0 0 0 0 0 0 0
7]
HD *l] 126 124 6 37 56 4 0 15 6 0 0 0 0 0 2 2 0 0 0
{Ii EE] 217 216 13 72 78 22 5 21 0 2 3 0 0 0 1 1 0 0 0
Ij\j IHT 165 165 4 37 60 16 2 28 3 9 4 0 0 2 0 0 0 0 0
{% ﬁ 206 206 3 83 67 11 2 40 0 0 0 0 0 0 0 0 0 0 0
{EF {J” 270 267 5 102 91 36 6 19 3 1 0 4 0 0 3 2 0 1 0
{% :”: 218 218 4 102 58 8 2 26 0 12 6 0 0 0 0 0 0 0 0
j\ 7:7 401 380 27 137 124 33 8 33 0 2 6 10 0 0 21 6 7 6 2
—+k
jJD I 222 222 10 90 83 10 0 27 0 2 0 0 0 0 0 0 0 0 0
ks
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Z: @J 107 106 19 23 37 13 3 11 0 0 0 0 0 0 1 1 0 0 0
y:—'—»
y%iEi 253 252 74 85 38 7 38 0 5 5 0 0 0 0 1 0 1 0 0
H% E 346 339 28 132 82 42 16 24 4 11 0 0 0 0 7 4 1 2 0
J:}\E 297 293 68 118 47 26 3 26 1 0 0 4 0 0 4 2 2 0 0
]\ EE] 86 84 19 20 21 24 0 0 0 0 0 0 0 0 2 2 0 0 0
}II Ij\j 451 448 30 130 165 69 0 25 1 26 2 0 0 0 3 1 2 0 0
FL; jﬁl 225 225 18 87 78 19 0 3 3 17 0 0 0 0 0 0 0 0 0
ES S
ﬁ 335 335 47 104 113 32 17 11 2 6 0 3 0 0 0 0 0 0 0
-
181 181 36 30 66 5 8 14 15 7 0 0 0 0 0 0 0 0 0
AtH
151 151 29 24 79 16 2 1 0 0 0 0 0 0 0 0 0 0 0
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